Ohms Law and combinations of resistors
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If an electron and a positron annihilate each other, then how much energy would be given
off?
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A rotating fan completes 1200 revolutions every minute. Consider the tip of a blade, at a
radius of 15c¢m. Through what distance does the tip move in one revolution? What is the
tip’s speed? What is the tip’s acceleration?
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The Leaning Tower of Pisa is 55.863 meters high. Use the concept that the gravitational
potential energy is converted into kinetic energy to find the velocity of an object just
before it hits the ground — assuming the object was dropped (not thrown) and that air
resistance can be neglected.
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